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PUBLIC ADMINISTRATION
Paper — 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

The book ‘The Intellectual Crisis in
American Public Administration’
deals with

(A) New Public Administration
(B) Ecological Approach

(C) Developmental Approach
(D) Public Choice Approach

Which one of the following is not
Taylor’s mechanisms of Management ?

(A) Using a routing system

(B) Employing a mnemonic system

(C) Employing a modern cost
system

(D) Using a gang plank.

Which is not true about the Indian
Independence Act, 1947 ?

(A) Two Dominions were
constituted — India and
Pakistan.

(B) The Suzerainty of His Majesty
over the Indian States would
lapse.

(C) The Constituent Assembly
would  function as  the
Legislative Assembly for the
interim period.

(D) The Governor General would
have limited power to assent to
any Bill in the name of His
Majesty.

The Royal  Commission on
Decentralisation was headed by

(A) Lord Dalhousie
(B) Lord HobHouse
(C) Lord Rippon
(D) Lord Mayo
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Who of the following has described
authority as the supreme
co-ordinating power ?

(A) Karl Marx

(B) F.W.Riggs

(C) Max Weber

(D) Mooney and Reiley

Which of the following are correct ?

(i)  Theory of : Max Weber
Social and
Economic
Organisation

(i1)) Models of : H.A. Simon
Man

(ii1)) Organisation : F.W. Taylor
and
Management

(iv) Elements of : F.M.Marx
Public
Administration

Codes :

(A) (1), (11) and (iv)

(B) (i), (i1) and (iii)

(C) (i), (ii1) and (iv)

(D) (iv), (1) and (iii)

Which one of the following is not
correct regarding Downs’
categorization of Bureaucrats ?

(A) Climbers

(B) Voters

(C) Advocates

(D) Statesmen

The phrase ‘developmental
bureaucracy’ was coined by

(A) LaPalambora

(B) Fred. W. Riggs

(C) William Siffin

(D) Edward Weidner
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1.

q Ifecirgere HEMAE T MRS
Ufecieh UMMM JE® (9§
T € 2

(A) ToF A TR

(B) uRferfqea summ

(C) Tahm U™

(D) <% =3 3UrTH

fr=fefad & & &9 91 ToR & Ta

fopanfaferat & Traf-ea @ & 2

(A) UH TIFEURUT FART H TN
FHET |

(B) TS TRV e Hi ham-ad
FHET |

(C) U 3MYHF AN G Sl AN
FHET |

(D) U AT ST T HEAT |

YRR WA=l U9, 1947 & aR |

I T H Tl Tal & 2

(A) YRT TS UIfhE™ — I oA
T foham T

(B) 9RdE Todr (Ramdn) @ fafest
THTE i TE T & S |

(C) ofaRkg 7 ° Gfou= @
farentarept =1 S AT |

(D) fofest @ue & 9@ w fodt off
fadgs = Wea A g
IR S & g HitHd vt
il

|A0|°|'>*§ﬁ|°h<ul T <v|¢|<'| ObJ-I“IQH av_ T
H A9

(A) oS SeRst

(B) ©TE EleRrsd

(C) e =

(D) oS T
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S.

frefatea 4 9 fas o & gared
ISR Vi % &9 H aforq fopar & 2
(A) et AT

(B) UF. T=g, fH

(C) BT o=’

(D) T wd

FfeRad 5 9 9 91 T8l ¢ 2
() oI A R ;. B A
TUE ShiIHS

TSI
(i) Hieeq AFIT : TAT FEHA
(i) FRESTH  : ThI=Y ooR
UG HASTHUS

(iv) UfeHued 3% : T%UH. A
qiscTeh
TETHRETH

T

(A) (i), (ii) 3R (iv)

B) (i), (ii) #R (iii)

(©) (i), (iii)aiﬁT (iv)

(D) (iv), (i) 3R (iii)

S T AIHRMET & IR & T
H I T Tel el ¢ 2

(A) FARHTY

(B) @™

(C) Tusded

(D) wWeHHA

TIATHISS  IGKE” AT AT

TV YA g fopa o 2
(A) AT AT

(B) e =g, g

(C) Taferam fawsa

(D) TSHE dlgR
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10.

11.

12.

Which one of the following terms
does not apply to the Vice-President
of India ?

(A) He may be removed by
Impeachment.

(B) He may resign by writing to the
President.

(C) He may be removed by a Rajya
Sabha Resolution and agreed to
by the Lok Sabha.

(D) He may seek re-election for
any number of times.

The creation of the post of Policy
Adviser in each department of
England was suggested by

(A) Fulton Committee
(B) Royal Committee
(C) Priestly Committee
(D) Appleby Committee

Who called the Indian Civil Services
as the Steel frame of Indian
Constitution ?

(A) Pt. Jawaharlal Nehru
(B) Sardar Patel

(C) Dr. B.R. Ambedkar
(D) Govind Ballabh Pant

What is not an advantage of seniority

principle of promotion ?

(A) It is more objective and easier
in application.

(B) It eliminates internal strife for
advancement.

(C) It promotes general morale of
the personnel.

(D) It affects the self-improvement
efforts of personnel.
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13.

14.

15.

16.

A public personnel may face
disciplinary action on the following
basis :

(1) Inattention to duty
(i1) Inefficiency

(ii1) Insubordination
(iv) Integrity

Codes :

(A) (), (i), (i)

(B) (i), (iii), (iv)

(©) (), (iid), (iv)

(D) (), (i), (iii), (iv)

Which of the following motion is not
related when the demand for grants
are considered and passed by the Lok
Sabha ?

(A) Policy Cut Motion

(B) Censure Motion

(C) Economy Cut Motion

(D) Token Cut Motion

What is not true about a Money Bill ?

(A) It can be introduced in any of
the House.

(B) The Speaker has the final
power to decide its character.

(C) The President or Governor, as
the case may be, has limited

powers in case of a Money
Bill.

(D) It shall not be introduced or

moved  except on  the
recommendation of the
President or Governor, as the
case may be.

Which one of the following is not a
Constitutional Body ?

(A) Union Public
Commission

(B) Finance Commission
(C) University Grants Commission
(D) Election Commission

Service
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10.

11.

12.

IRA & SWU & =T § HiA 4
o ] &l & ?

(A) 3T TRITART Ufsham §RT &2rar ST
THATE |

(B) % LU &% AW U7 fofaes U8
T Gehell & |

(C) 3T TEN & U R adl
E W FRT 3Gk 3HIRA R
Ug T BT ST Wkl & |

(D) &% feat & IR AT oTg ToheT & |

iU | Yedeh fam H Hifq weiesr %
Ug 1 G Tre gene e i o 2
(A) o FEla
(B) T |A
(C) Wit amfa
(D) A |Hfq

g 9RAEm Aedaret w9
GG ol W€ieT T a1 ¢ 2

(A) . ST 48
(B) WER 7

(C) S R, =gt
(D) Tifa< Soer Ud

G o oNtedT UG g W

I 9T 0T el & 2

(A) TE s T § i 38 @]
HET AT |

(B) I% 3+ & folw stwafes Tedt &t
AT FATE |

(C) ¥& HIHHI & FHEFT TAEA Hi
TeATTed YT € |

(D) IE FMHHI & H-GIX Fra=et
TATET ot THTTST el & |
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13.

14.

15.

16.

UH Al FIHE FEAfGREd STERl )
HRIMAAIHD °b|<0||é bl Ui d4 Hehdl %‘
(i) T & Ufd & = I

(i)  STeRTEpECT

(i)  3FTefar

(iv) TeatTear

ETE

(A) (1), (1), (i1i)

(B) (i), (ii1), (iv)

(©) (1), (iid), (iv)

(D) (1), (i), (i11), (iv)

& ol T W STEH T "3 W)
foar @or wikd & ST W@ BT 8, a9«
frefafed & @ SF o1 ue g T@
BT S 2

(A) T It I

(B) &1 w=m@

(C) ToaerEt it wemE

(D) i HIrt T

T o {89 % ) § i G Tel T

T2

(A) =¥ Tt off Ie9 ¥ wqa T ST
AT & |

(B) U WEY &l Ffvad e grawt
tf=am vifeRT SfieRy/eTeel & U
@A E |

(C) TUH & foegs & aR | Ieguid ar
TSI i FTE AT gl € |

(D) T8 TUMT AT ISFUTS i 3]
% fomT @eT o w&qd A o @l
foma T |eetl |

frfefed & @ S | Foure e
WwIE?

(A) I A Far AT

(B) Ta=r smamr

(C) Tavaia=merd 3R ST

(D) Tarem st
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17.

18.

19.

20.

21.

The Statutory Status was given to the
erstwhile Minorities Commission in

the year :
(A) 1994 (B) 1978
(C) 1993 (D) 1990

Which Independent State merged
into Indian Union with the consent of

the people ?

(A) Jammu & Kashmir
(B) Sikkim

(C) Goa

(D) Hyderabad

Who opposed the entry of Political
Parties to the Local Bodies Election ?
(A) Jawaharlal Nehru

(B) Jaiprakash Narayan

(C) Sardar Vallabhbhai Patel

(D) Abdul Kalam Azad

Which one of the following
Institutions is responsible for Social
Audit ?

(A) Gram Sabha

(B) Village Panchayat

(C) Intermediate Panchayat
(Panchayat Samiti)
(D) District Panchayat (Zila

Parishad)

Assertion (A) Public
Administration 1s concerned
with the management of public
programmes.

Reason (R) : Public Administration
is policy-making.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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22,

23.

24.

Assertion (A) : The Chief Secretary
at the State level does not have
a fixed tenure.

Reason (R) : The  First
Administrative Reforms
Commission did not make a
specific recommendation in
this regard.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Kautilya’s King is
the fountain of justice.

Reason (R) : The King administers
justice in accordance with
edicts and evidence.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) According to
Bernard, authority resides in
the relationship between a
superior and its acceptance by
a subordinate.

Reason (R) : To Barnard, authority
is the character of an order in
an organization by virtue of
which it is accepted.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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17.

18.

19.

20.

21.

HACTGIS 3T o 6T au | Glafus
TR e fomar T 2

(A) 1994 (B) 1978

(C) 1993 (D) 1990

FE T WA= [T A B HgA T
IR T § FhAterd gai ?

(A) S UF HPHR

(B) Tafem

(C) Tmsm

(D) TER

T R % A § TSI et
&% AT S Tohe forTe foham 2

(A) SR BE

(B) STV AR

(C) WER FoeTTE ueet

(D) AT hel™ AR

frefefad & @ #F 9 G@n gmEits
TR0 & FTT STEHT § 2

(A) T G

(B) T YA

(C) Yeamad afafd (@eedr dard)
(D) ToTet uReR (Tefgee damd)

AUFHTT (A) : AH  WMET A
HAHAT o Yoy Y Ty ¢ |

% (R) : ol WRmEE g
fmmor e |

ETE

(A) (A) @M (R) SHi Wl & &1 (R),
(A) = T& AT € |

(B) (A) M (R) T+ Tl € W (R),
(A) S T&l == e € |

(C) (A) T e, W< (R) Tord & |

(D) (A) 7T &, W (R) &I & |
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22.

23.

24.

ATFHAT (A) @ THER W g
e i ygmary Hived T8l gid & |

& (R) : U URTEHE GER
3N 3 39 R H his foiy Feran
BN

YA

(A) (A) @ (R) 3 F&l & T (R),
(A) & T& =T |

(B) (A) T (R) 3 Tl €, W] (R),
(A) I & AT TR € |

(C) (A)TE g W (R) T € |

(D) (A) T &, W] (R) W&l ¢ |

ATTFHUT (A) : P H IST/MES
T H AT |

& (R) : TS TSTRSN e
et % ST =TT FHIAT AT |

ETE

(A) (A) T (R) I Wl € @ (R),
(A) & T& AT € |

(B) (A) @ (R) I Fel & W= (R),
(A) T TE TS TR T |

(C) (A) Tl g, W= (R) Tord & |

(D) (A) T &, W] (R) W& & |

ATTHAT (A) : TAE F AR, Tl
T I T Teh 3T gRT
TP Wpid & o9 & Tl §
e et & |

& (R) : TS F SR, T
fdl TmeT H UH SARY @i
fRwar € ok g’ T
ST I ST & |

(A) (A) @ (R) ST &l & & (R),
(A) & T& AT E |

(B) (A) @ (R) I Tl &, W= (R),
(A) F TEl AT TR T |

(C) (A) Wl g, W= (R) Tora & |

(D) (A)7Terd &, W] (R) el & |
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25.

26.

Assertion (A) : The U.S.A. has
no machinery analogous to
the Whitley Councils of the

U.K.

Reason (R) The US.A. is a
traditional home of patronage
bureaucracy.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

correct

Assertion (A) Methods of
legislative control over
administration in a
parliamentary ~ system  are

different from those in a
presidential one.

Reason (R) : In the presidential
system of the United States,
powers of administration are
vested in the President.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

correct

correct
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27.

28.

29.

Assertion (A) : Joint Consultative
Machinery (JCM) promotes
harmony between the
employees and employer.

Reason (R) : Redressal of employees
grievances boosts up their
moral.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : The relationship of a
Minister and a Civil Servant is
that of a Master and a Servant.

Reason (R) : A Civil Servant is
required to render honest
advice to the Minister.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) Transparency in
administration is a salient
feature of good governance.

Reason (R) : The R.T.I. Act, 2005
has contributed in ensuring
good governance.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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25.

26.

Afimer (A) : R | foRa @t
f@eet URoRT & THET HE I
TIE |

& (R) : SR T
AHTIME! HT TR B @I E |

(A) (A) T (R) IHT W&l & @ (R),

(A) I el A& ¢ |

(B) (A) @M (R) T Wl €, W (R),

(A) S T&l =T e € |
(C) (A) W T, W< (R) T & |
(D) (A) e &, W (R) T |

Ao (A) @ TR W faem
=07 o Wi §ERIT FeaeE |
A e | =T 8 & |

& (R)
T THACHS FaRT H, TS

: GgFT TST STHRE

W TR Tegatd | T €

%

- .

(A) (A) @ (R) SF1 Tl & @1 (R),

(A) I el A& ¢ |

(B) (A) @M (R) T Wl €, W (R),

(A) S T&l == e € |
(C) (A) W T, W<g (R) T & |
(D) (A) e &, W (R) T |
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27.

28.

29.

AMHT (A) : TIF TARHR! T
FHARAT T AT & T

HIETs &l Ticdled Hidm & |

& (R) : FHEETRAT Eal
TeTepraat &1 e 39 A
H T E |

W: . .

(A) (A) @1 (R) 3T W&l € a1 (R),
(A) el AT |

(B) (A) T (R) T Tl & W (R),
(A) I & AT TR E |

(C) (A) g, W (R) Tord & |
(D) (A) TToid &, W= (R) W& & |

AfFAT (A) : TH A= q° AlE
Ao & WY UH @l 3T
HaF S € |

& (R) : Th b Qas i
qifeq {6 ¢ 7= * THRR 9
RIS U8 HY |

TN

(A) (A) @ (R) ST &l & & (R),
(A) & T& =T |

(B) (A) 1 (R) T Tl € W] (R),
(A) I & AR TR € |

(C) (A)TE e, W (R) T & |

(D) (A) TTod &, W= (R) W& € |

AMWHYT (A) : T H ORI
TUTET Bl U TS R ¥ |
& (R) : SIREIE.

atfata, 2005 F TG H

-~

gifead = § AR 5T § |

ETE

(A) (A) T (R) 3T Gl & @ (R),
(A) & T& AT |

(B) (A) @ (R) I Tl & W (R),
(A) I & AT TR € |

(C) (A) Tl g, W] (R) Tora & |

(D) (A) TToid &, W= (R) W& € |
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30.

31.

Assertion (A)
Institutions could not become

Panchayati Raj

effective even after 73"
Constitutional Amendment.

Reason (R) : State Governments
have not given adequate
powers, finances and personnel
to Panchayati Raj Institutions.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) 1s false.

(D) (A) is false, but (R) is true.

correct

What is correct about the formation

of new State/s in Indian Union ? Use

the codes given below for correct
answer :

(1) It can be done by separation of
territory from any existing
State.

(1)) It can be done by uniting two
or more States or part of States.

(ii1)) The creation of new States can
be accomplished by an
ordinary legislation.

(iv) The Parliament cannot alter the
territory of the States without
their consent.

Codes :

A) (), (1), (iv)

B) (@), (i), (iii)

©) (i), (i), (iv)

(D) (i), (iii), (iv)

32.

33.

Arrange the following in correct
sequence of their evolution in the
discipline of Public Administration.
Use the codes given below for

answer :

(i) Motivation — Hygiene Theory
(i1)) Ecological Approach

(ii1)) Needs Hierarchy Theory

(iv) Scientific Management

Approach
Codes :
(A) (@), (i), (iii), (iv)
B) (i), (iib), (iD), (i)
(©  (v), (i), (1), (i1)
(D) (i), (iv), (1), (i1)

Arrange the following works in their
chronological order. Use the codes

given below for answer :

(i) Papers for the Science of

Administration

(i1)) The Principles of Scientific
Management

(iii) Public Administration in a

Time of Turbulence
(iv) Motivation and Personality
Codes :
(A) (@), (i), (iii), (iv)
B) (@), (1), (iv), (ii1)
(© (i), (iid), (iv), (i)
(D) (i), (D), (iii), (iv)



30.

31.

ATUHT (A) : TEE T G, 739
Hayrer gemes artuf=y & o
ot oryrelt =7t &t Teht € |

T (R) : T59 BRI A daFdt I
el w v v, fam
T IR T8 &l fohU € |

ETE
(A) (A) @ (R) 3 ®el € 1 (R),
(A) & AT E |

(B) (A) T (R) 31 Tl &, T (R),
(A) i T AT T € |

(C) (A)TEE R (R) T & |
(D) (A) T &, W] (R) W& & |

ORAF 99 § A0 TS b FETT

Trawel =T e € 2 IW aq A KU H

T TR A :

(i) v it foemm Tog & 8T @i
37T h¥eh &Y Tehel & |

(il) = 3 A TS AT AP AW B
et |

(iii) 7T T[T F TS FERI TTEET
g1 fohan ST @ehaT € |

(iv) 9% A B Geufd & for 3R
T & | gRe T o Gehet € |

(A) (), (i), (iv)
B)  (®, (1), (iii)
(©) (), (i), (iv)
(D) (i), (i), (iv)

32.

33.

Al TR % ITHF o [oH HH
et Y 3T A f§T T Fe w75

()  ARTROT-ETRERE T

(i) URETHE U

(i) STavTHATST T HiFRAT BT
g

(iv) SH® Yawe SUNTH

[ YA

(A) (@), (i), (iii), (iv)
B) (i), (i), (iD), (i)
(©)  (v), (iid), (i), (i1)
(D) (i), (iv), (1), (i1)

TG Sl 37 HIAThH § SFarerd
HX | TEl IR A 9 A U M FE
o

() TwE wR & Gy s
UMM

(i) = e 3w el daste

(iii) Uit TSHMRYH T U 2"
3 2o

(iv) Hifcawm wog gd-e2r

(A) (), (i), (iii), (iv)
B) (i), (D), (iv), (iii)
(© (i), (iid), (iv), (i)
(D) (i), (D), (ii), (iv)



34.

3S.

36.

Arrange Maslow’s Hierarchy of
Needs in descending order :

(1)  Social Needs

(i1) Self-actualisation Needs
(ii1)) Physiological Needs
(iv) Ego Needs

(v)  Security Needs

Codes :

(A) (iii), (v), (1), (iv) and (ii)
(B) (iii), (v), (1), (ii) and (iv)
(C) (i), (iv), (1), (iii) and (V)
(D) (i), (iv), (1), (v) and (iii)

Arrange the following experiments
conducted by Elton Mayo in the
chronological order and select the
correct answer from the codes given
below :

(1) Mass interviewing programme
(i1) Textile Mill Experiment

(ii1) Ilumination Experiment

(iv) Bank Wiring Experience
Codes :

(A) (i), (iii), (i) and (iv)

(B) (iv), (i) and (ii)

(C) (i), (i), (i1) and (iv)

(D) (ii), (iv) and (iii)

What is the correct sequence of
Scientific Research ? Answer by
using the codes given below :

(i) Formulation of Hypothesis

(i) Selection of Problem

(iii)) Generalization

(iv) Collection and Analysis of data
Codes :

@A) (), (i), (i), (iv)

®B) (i), (), (v), (iii)

©) (), (i), (i), ()

D) (i), (iv), (), (iii)

37.

38.

Arrange the following in order of

sequence regarding requirements for

a rational policy :

(1) Identification of
alternatives to attain goals.

policy

(i) Analysing cost benefits of
policy alternatives.

(i11) Selecting the most efficient
policy alternatives.

(iv) Identification and ranking of
goals.

Codes :

(A) (i), (i), (i), (iv)
B) (), (), (i1) , (iii)
(C) (i), (i1), (iv), (1)
(D) (), (iid), (iv), (ii)

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — II
a. Chester 1.  Models of
Barnard Man
b. Herbert ii. The Human
Simon Side of
Enterprise
c. M.P. Follett 1iii. The Functions
of the
Executive
d. Douglas iv. Creative
McGregor Experience
Codes :

a b c d
(A) i i i v
B) i i iv il
(C) iii T A 11
(D) il il i v



34.

3s.

36.

Al W STATAHAT Bl ST
S 3TeRIE! hH § AT &Y ;
(i) S SavTHaTd

(i) oTeH-fafg = amEvaERaT
(i) 3w SMEvIHAT

(iv) T D SEvThHTd
(v) ORI g ey
E T

(A) (i), (v), (), (iv) &R (i)
(B) (i), (v), (i), (i) 3R (iv)
(©) (i), (iv), (i), (iii) 3R (v)
(D) (i), (iv), (D), (v) R (i)

Ued WOl N T T OwERT W
HATH T Fared w AR e KT
F T el IR =TT B

() e gefata wae

(il) IR el TquREe

(iii) TTIHATH TR

(iv) o amEiT TeditEs

B

(A) (i), (i), (i) 3R (iv)

(B) (iv), (i) ¥R (ii)

(C) (iid), (@), (ii) 3R (iv)

(D) (i), (iv) 3R (iii)

S TG B Sfed B FME 2
TE ST T =5 A T et T Y
(i)  OREReET 1 T

(i) TEET B T

(i) QTETTHOT

(iv) 3RSl 1 T ua faveryor

E T

(A) (), (i), (i), (iv)

B) (i), (), (iv), (iii)

(©)  (v), (ib), (iid), (1)

(D) (i), (iv), (1), (iii)

37.

38.

T dIfeheh HiTd o = | FAreArad

FHGG H | SA H T A9 T M0

() e = W &g Ad foshedt
Fafed & |

(i) T fowedi & @WE AT w0
fawerooT e |

(iii) Tattys FerT A faswea w1 ===
FHET |

(iv) 3T o TeaM 3R TRIFOT T |

F

(A) (i), (D), (iid), (iv)
B) (), (i), (i1) , (iii)
(© (i), (i), (iv), (1)
(D) (@), (i), (iv), (i1)

A — [ g — 11 ¥ e & 3R

I ST T F B TS T TE W H

W%i’

e - 1 = - 10

a. LI IS i, WEad A%
)

b. T WA ii. S A A
FTh FUSTITSST

c. TR, Wieole  iii. o FeREd
3 5T
ESERICe]

d. TG dRR iy, fshufed
TFUIRET

E T

a b c d
(A) i i i v
B) i iioiv il
(©C) i i iv i

(D) i il i v



39.

40.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
a. Classical i. Interaction
Theory between
Organisation
and
Environment
b. Behavioural 1ii. Shop  floor
Approach activities of
Organisation
c. Systems i1 Formulation
Approach of Principles
of
Organisation
d. Scientific iv. People in the
Management Organisation
Codes :

a b c d
(A) iv  iii i ii
B) i iv il i
(C) i iv i ii
(D) i i iv il

Match List — I with List — II and

select the correct answer from the

codes given below :
List -1

a. M.P. Follett i.

List — 11
The Ecology
of Public
Administration
Dynamic
Administration
Motivation
and
Personality
d. A.Maslow iv. The
Motivation to
work

b. Hergberg i

c. F.W.Riggs iii.

Codes :

a b c d
(A) i v i 1ii
B) i v il ii
(C) il i i v
(D) iv i i i

Paper-11
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41.

42.

Match List — I with List — II and
select correct answer from the codes
given below :

List -1 List - II

a. Autocratic 1. Making
decision decision with
making participation

b. Democratic ii. Making
decision decision with
making little

consultation

c. Rational iii. Making
decision decisions on
making the basis of

calculation and
choosing the
best option

d. Consultative iv. Making decision
decision by inviting
making opinions

Codes :

a b C d
(A) i i 1 iv
B) i 1 1 iv
(C) iv i ii i
(D) 11 ii iv i

Match List — I with List — II. Select

the correct answer from the codes

given below :
List—1I

a. Theory—-X 1

List — 11
Integration of
behaviour is
the key
process in
Management.
Calls for
vertical job
loading.
Based on the
traditional
conception of
control and

b. Theory—Y ii.

c. Job 1il.
Enrichment

command.
d. Job iv. To provide
Enlargement more control
over one’s
activities and
greater
participation
in decisions.
Codes :
a b c d
(A) i ii i iv
(B) il i ii v

(C) i i iv i
(D) i iv i il

D-14-12



39.

40.

gar — 1 & gt — 11 @ e & 3

FZ H TET W el IR H TIH N
i | = — 11
a. ORERETT i, AU
B3Rl TJITEROT
e 3= TshaT
b. FEERAR! ii. e = I
Eviut) FAR
Tiatareat
c. TARATIIMH  iii. T H
TagT=i
fmToT
d. IHH TS v, ST H AN
E T

a b c d
(A) iv i i il
B) 1 v i i
(C) iii v i ii
(D) i i v i

A — [ % gl — 11 9 e Y 3R

T T T P B TET F Gel W H
T A
T -1 = - 11

a. TAUL Woole i ST gehrerST
3 ufectss
ESLIEEAE]

b. &St ii. SEAYS
ESLIEEAE]

c. ThIY, g jii. HifleaRH wuE
EEEir)

d. T dw iv. < HifeseE
EEa)

TR

(A i iv i i
@) i v il i
©) i i i iv
(D) iv i i i

41.

42.

e — 11 3l — 11 9 e 3R e b

RN ¥k Tel ST T

= - 1 = — 11

2. WWER i GeIiar e
ot fwior ot fwior

b. BT i, dS TN H
ot et 1 ot Feior

c. difhsh MU iii. 9 fomR &

7T YR W U
FEAT A TR
foIshed 1 9o
d. WEIHRT iy, H=d faari &
o fmtor MR W o
fTOT
E
a b c d
A i i il iv
B) i i i v
©) iv 11l i i
D) ii i iv i
g — 1w galt — 11 & e Y 3
e T WERT THT Tal IR
= -1 =t - 11
a. SI-UFT i, IR T TSI
e UTsHAT Sl it
T
b. AT ii. oG S R B
T HEATE |
c. I iii. f7a=01 g IRw W
Hag TR TR
T R & |
d. ®& iv. T i idtara
foearoT e CAT )
3 Mo | Afaes
TEWTHTAT T UL
FATE |
E T
a b c d
(A) i i i v
B) i i i v
(C) i i iv il
M) i iv i i



43.

44.

Match List — I with List — II. Select
the correct answer from the codes
given below :

List—1I List — II

a. R. Blake i. Path-goal
and J. Theory
Mouton

b. Fred ii. Managerial
Fiedler grid

c. Robert iii. Life Cycle
House Theory

d. P.Hersey iv. Theory of
and K. Leadership
Blanchard Effectiveness

Codes :

a b c d
(A) i v i 1
(B) iv i il i
C) 1 v il i
(D) i i iv i

Match List — I with List — II. Select
the correct answer from the codes
given below :
List -1
a. Power of the 1.
Union or the
State to frame
recruitment
rules for public
services
b. Safeguards and ii.
protection of
civil servants
against
arbitrary
executive
orders
c. Public Service iii.
Commission
for the Union
and for the
States
d. Creation of All iv.
India Services

List — 11
Article 309

Article 310

Article 311

Article 312

v. Article 315
Codes :
a b c d
(A) i i il v
B) ii i v v
©) i i iv %
(D) i i v v

Paper-11
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45.

46.

Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — IT

a. Dismissal 1. Isnota
punishment and
an employee
cannot claim
protection
against it under
Article 311.

b. Removal 1ii. Does not make
one unfit for
reemployment
under the
Government

c. Suspension iii. Makes one
ineligible for re-
employment
under the
Government

d. Compulsory iv. Does not attract

Retirement the safeguard of
Article 311(2)
Codes :
a b c d

(A) i i i iv

B) 1 i i v

(C) i 1 1 v

(D) 1iv i i i

Match List — I with List — II and

select the correct answer by using the

codes given below :
List—1 List — II
a. Public 1. Suggests
Accounts alternative
Committee olicies for
ringing
efficiency and
economy in
administration.

b. Estimates ii. Comprises of

Committee members from
both the Houses.
c. Committee 1iii. Scrutinizes the
on Public report of CAG
Undertakings in regard to the
appropriation
accounts of the
Government.
d. Joint iv. An adhoc
Parliamentary Committee of
Committee the Parliament.
Codes :

a b c d
(A) i i1 v
B) i i iv il
(C) 1 i ii iv
(D) iii il iv i

D-14-12



43.

44.

gt — [ % gdt — 11 ¥ e Y 3R

T T T P B TET F Gel W H
?PJI:TEE%
T -1 = — 11
2. AN &A%k 3 i, O T
S, gieT
b. e fheer i, TRNRES e
c. e &=y iii. ©E® Grefehet
i)
d. ot &g 3 iv. & H
F, AHIS e
FrEcicen)
T

a b c d
(A 1 v 1 1i1
B) iv i il i
© 1 v il i
D) i i iv il

gt — [ % gdt — 11 ¥ e w 3iR

T T T P B TET F el W H

?PJI:TEE%

= -1

a. A FARTH i
0T T fam
A G qT

b. W
FEAFHRT AT &
foreg <Ak Qashi
Pl G T
HRToT

c. 99 IR T &
o e Qe
ST Y SHET

d. eIfger yrRaE
et 1 TS

w11
FTET 309

ii. =T 310

iii. 37T 311

iv. 3TT=T 312
v. 3T 315

a b c d
(A) i i i v
B) 1 i v v
© i i ivv
D) i m v v

45. gt — 1 & g — 11 9 e &Y | A=
zg FZ FI TEE T TEl IW H T
T -1 T — 11

a. WA Q. TH G el § I HE
FHHAR T (T65
3T 311 % T8
TR T 1T &I BT
el |

b. F=pET il TR @ R H
TERT Mg & 3
el Efe e |

c. o iii. fodl B WER &
3T g
3T BN HATE |

d. sa  iv. TR 311(2) % ded

et LT TS el el |
BT :

46.

a b C d
(A) i il i 1v
B) ii iii i iv

Q) i i i v
(D) iv i i i
A — [ g — 11 ¥ e & 3R
T T T Fe I 7SE ¥ el IW H
~1 11
A, GAE@E i e H
afafa EoRENCRING)
Tdeaar & &q
ehiceh Tl s
T |
b. FEE  ii. I WA ¥ TRH
it AT |
c. ol IFH iii. WHR & A==
Brasitsit) | W g
HT ®H e =
e Al & |
d. 9g#  iv. §ES H UH a8y
TS qHa e |
ESjtaino)
HT:

a

a b c d
(A) i n i iv
(B) ii 1 v il
(©) il 1 i v
(D) il niv 1



Read the passage below and answer the
questions that follow based on your
understanding of the passage (47 — 50) :

Kautilya’s Arthashastra is a treatise
concerned with political science and public
administration as much as it is with
statecraft, economy and diplomacy. It is
written with the practical aim of showing
how the Government ought to be run. It is
also a highly polemical discourse that has
astonished scholars, particularly on the
themes of  violence, conspiracies,
espionage, etc. From that point of view, it
is highly embarrassing to put forth the
Arthashastra as the symbol of Indian
political thought together with what Greece
has to offer by way of Plato’s Republic and
Laws, and Aristotle’s Politics. However,
the fact remains that Kautilya
recommended such measures only against
enemies and traitors in emergencies. His
proposition was that politics and ethics do
not mix easily. That does not mean that
Kautilya disregarded ethics or morality.
What he meant was that there is a
difference between individual and public
morality. Kautilya made no serious attempt
at theory building. At best, he described
and discussed empirical reality and was
normative and prescriptive in his treatment.
He was keen on efficiency and rationality

aspects of administration. His maxims of

administration include characteristics like

hierarchy, defined competence of each
office, selection by merit, promotion by

seniority, compensation, training and

discipline. The Arthashastra has many
insights and lessons to offer even to the
present-day students and practitioners of

public administration.

47. Explain the

Arthashastra.

(A) It is concerned with statecraft,
economy and diplomacy.

(B) Itis only a concept formation.

(C) It is not a practical guide to
administration.

(D) It is not a symbol of Indian
Political Thought.

main focus of

48. Why Kautilya insists the themes of

violence, conspiracies and espionage ?

(A) It is a practical way to run
Government.

(B) Itis a diplomatic strategy.

(C) It is a matter of normal
administration.

(D) Itis concerned with morality.

49. Analyse the relation between politics
and ethics as mentioned by
Arthashastra.

(A) The phenomena of politics and
ethics are separate.

(B) Politics and ethics do not go
together easily.

(C) Kautilya disregards ethics.

(D) Kautilya insists morality.

50. Kautilya concentrates more on
practical administration but not on
(A) theory building.
(B) efficiency in administration.
(C) maximus of administration.
(D) the rationality of administration.

Paper-11
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I 5T 7T TR A ufew qer 39 e @6
AT THY & AUR W 3HE o5 §U M0 geT
% 3T I : (47-50)

Sifeed Fad U TV H1 ST oy To-
TA ST, ST 9 Fedid ¢
AT & TSI foRTE @R ol uemeE o ot
T | SO oG H ARG 2T TEl € fF

THR FHT GAe Hd foHaT STHT AieT | T8 Th
3T FHifC H AR-[aE Weh ey o & e,
fooma: &, wedw, STgel s fowai w
Td AE-[gaRt § fagmr fof & eEd FX

e & | 59 giesior |, wier Iea Rufserss ae
A TE IRE] Tud Wi — e gAm
I fod o Udieh % ¥ H uRqd fohan
ST & — o T 3TN T WRAE SIS
foa & wdls & ® § Ud @ A S
THA | R o 9% 9w € % Fifeem A
SATITTSRTET | halel I3 3T SeIRiTea o faog
T YR & U Bl STIH 1 RIS 3 & |
ITH AR oAt Toh TSI der STERene
AT | Uh-gR | Tfsrd &t fopw s Tt |
THFH 37 Tg T & o Hifeed 7 SERNE A

AT Sl TR Sl | STHT I IJg TL

AT o7 T afoRIe AfcTeheT deT eish-ATaehar o
AR T | Tagid Fmmr & fow sifeea 7 7R
AT A AT | SATe-g- 31 Sa STt
T w1 foeEd iR A fEr @em et
TR0 ! AFGUSIHS T Haeledeh a1y
@I | 3TH! ST TR Bl HIFICAA 2
Toaehsticrar & off | weTe & & | 39 g |
USSR, UE US S URWING S, A
% SR W, aNedl % STER UMM,

D-14-12
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TS, UTSTET0T qAT STRE ¥HA & | STH]
ST Al TR % ST UReRT el
foenfér=t =t ot 3k UER @ g qgr siage
TR AT € |

47. 3TIRIE % P o (o5 o AR HIT |
(A) TP &Y IToF-GAH  HITT,
ST HERT qAT FAId T & |
(B) TE U HehoUHT 0T AT & |
(C) ¥& WG & UH FEING Td-
TR T ¢ |

(D) T& URAE IoFiae foaa @
TR TEl |

48. itcea w41 fea, weas qun gt fowa
W TA AT ?
(A) T& WHERX TaOH FH ATRINS
T T |
(B) ¥ U FeAdeh WHIT & |
(C) T W URE ol faug & |
(D) TEH oy AT T & |

49. TR T Trad TSI a9 SR

(A) TSI T&T SERIMTE 6 IRGYT
TIETIE |

(B) TSI aT SR 3TN |
TS T Tél @ |

(C) Hifeed F MERIMS BT SR
HE

(D) hifeea F Afqshar W ot [T e |

50. hifced SATERING UG T &1 Il
W WA TRl |
(A) Tagid fFmor
(B) TR H SHrEIIerd
(C) veTEH % g

(D) T i foeheierd
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